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M.A. Sem.-111
May-2013

Psychology-504
(Statistical Inference-1I)

Time : 3 Hours] [Max. Marks : 70

Instructions : (1) Non-programmable calculator can be used.

(2) Calculation should be done upto three decimal.

1.  Scores of test X and Y are as under, from this data : 14
(1) Develop the regression equations for prediction of X on the basis of Y and Y on the
basis of X.
(2) If X =18, calculate predicted value of Y and Y = 20, calculate predicted value of
X.
(3) Calculate standard error of estimation for both estimated value and draw
inferences :
Scores Scores
X Y
12 16
13 18
10 14
14 19
13 17
10 14
12 16
11 15
13 16
12 15
OR
The details of the results of Test — X and Test — Y are as under :
Mean S.D. Coefficient of
Correlation
Test- X 65 3.4
Test-Y 42 2.8 062
On the basis of these data,
(1) Develop the regression equations for the prediction of Y on the basis of X and
prediction of X on the basis of Y.
(2) If X =50 then predict the value of Y and if Y =55 then predict the value of X.
(3) Calculate the standard error of estimation for both the estimated values and draw
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2.  Calculate any two of the following :

(A) Calculate biserial coefficient of correlation from the following data and test the null

(B)

(©)

hypothesis at 0.05 level of significance :

Scores of Interest Test | Obtained Job | Not Obtained Job
81-90 04 00
71-80 12 02
61-70 16 03
51-60 05 03
41-50 01 07
31-40 02 21
21-30 00 16
11-20 00 08

Calculate point biserial coefficient of correlation from the data given below.
Test the null hypothesis at 0.05 level of significance :

Test Scores | Item Scores

22
21
21
20
21
23
21
22
19
20
23
24
18
23
25

[E=N

PP RPOORRPRPRRPROORFROOLR

Calculate Tetrachlorik coefficient of correlation from the data given below :

No

Yes

Yes
No

26
28

34
12

(D) Result of test X and test Y are as under :
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Calculate the Phi-coefficient from this data and Test the null hypothesis at 0.05

level of significance :

Test— X
Test—Y Fail Pass
Pass 08 52
Fail 28 12
6

14



3. Carry out the Analysis of Variance for following data and Test the null hypothesis. 14

Al A2
Bl B2 Bl B2
7 6 7 8
8 8 9 7
9 9 8 9
6 7 4 4
5 8 5 7
7 6 6 6
5 7 6
4 8
9
OR
Carry out the Analysis of Variance for following data and test its significance :
Al A2
Bl B2 Bl B2
12 15 17 11
10 08 13 11
12 15 18 17
13 12 18 11
08 10 12 15
12 13 14 11
11 13 11 17
10 11 18 13
4.  Calculate any two of the following : 14

(A) Anxiety of men and women was measured. Its scores are below.
Through Median test null hypothesis at 0.05 level of significance :
Women | 04 | 07 | 10 | 03 | 10 | 12 | 13 | 15 | 16
Men 03 |14 |17 | 12 | 16 | 03 | 04 | 05

(B) Obtained scores of student’s basis the use of four different teaching methods are
given below. From this data test the null hypothesis by using the extension of
median test (level of significance 0.05).

Teaching Methods
I ] i [\
18 35 15 22
16 38 17 25
40 34 14 24
29 13 19 23
32 20 33 27
36 21
30
28
31
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(C) Two groups of boys and girls were selected randomly and Social adjustment test
was administered to them. Scores obtained by them are given below. From this
data, test null hypothesis by Mann-Whitney ‘U’ test. (level of significance 0.05).

Boys | 55|41 |50 |48 |56 |25|45|40|31|36|28 |37 |18
Girls (58 20|38 |80 (42|62 23|27 |66|72|24|70|22

(D) An interest test was administered to groups of boys and girls. The frequency of
scores obtained by them are given below. From this data, test null hypothesis by
using Kolmogorov-Smirnov test. (level of significance 0.05).

Scores of Interest Test | Boys Girls
23-25 02 02
26 — 28 02 03
29-31 10 03
32-34 12 09
35-37 10 12
38 -40 04 17
41 -43 05 14

5. Answer in one or two sentences of the following questions :
(1) Define Statistics.
(2) What is Intrencial Statistics ?
(3) When Non-parametric statistical methods can be used ?
(4) State the name of methods of correlation.
(5) When regression prediction methods can be used ?
(6) Define the Biserial Correlation.
(7) Give the meaning of Null hypothesis.
(8) What is the two way analysis of variance ?
(9) Write the formula of Phi-coefficient.
(10) When Tetrachloric correlation can be used ?
(11) Give the meaning of Median.
(12) When is the extension of Median Test used ?
(13) When Mann-Whitney ‘U’ test can be used ?
(14) When is the Kolmogorov Smirnov test used ?
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